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600 A9 6,030,029 5,835,029 195,000 [ 100.0% ]
610 FA+Y 2,022,500 2,022,500 0[335%]1]
611 XpH|AIY 42 2,022,500 2,022,500 0
620 EHeQ|%0l 4,007,529 3,812,529 195,000 |[ 66.5% ]
623 §x 249 514,529 319,529 195,000
623-01 2nEEZ 283,750 223,670 60,080
« HetS E X QAZ| MH| AKX AT 29 223,750
(247)223,750,0002/-(7] &1)223,670,0002
- HASEEBIN]TSA 29 60,000
623-02 SH|HEZF 230,779 95,859 134,920
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700 AFQH| R 6,032,129 | 5,838,014 | 194,115 |[ 100.0% |
710 ¥YH| 2 6,024,129 | 5,809,014 | 215,115 |[ 99.9% ]
712 mHOjH|QpUet22|H| | 5,744,742 | 5,538,322 206,420 |[ 95.2% ]
100 QI1H| 2,387,000 | 2,387,000 0
200 ZH| 3,357,742 | 3,151,322 | 206,420 |[ 55.7% ]
203 ZZRI UMM 45,144 44,544 600
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- S0 EPHHESR 600 14 600
204 S HHH| 49,800 45,000 4,800
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(7 7)42,000,000~(7]7)37,200,0008 = 4,800,000¢
208 T A{QIH]| 69,260 79,260 -10,000
- OlvE2d 10,600
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«ADOUKE 2600 X 1 Al = 2,600
210 M QX|H| 28,800 20,200 8,600
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« 4T dMeE 3,000 X 1 4 = 3,000
« BEZ5 H2|%8 500 X 1 4f = 500
=5 2= 1,320 1,320
221 ¥ R74WH| | 2,356,459 | 2,161,459 | 195,000
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- 24| 44,937
- AtgiH]| 100,000




m
40
ra
rio

+ = FHOMA | 7| Houy | FY
4 g 7 =
o gluy = us ) ®) a-8)
713 ‘4at= 279,387 270,692 8,695 ||[ 4.6% ]
713-1 dat= 279,387 | 270,692 8,695
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MEMBAZ(UYRBIY 1735811 X 9% # 158,225
AT S(EYEID 1735811 X 6% X 110 % (452 Y2 XS8) = 114,564
« 7| 2HE HEEO datg 8600 X 100 % (L+52 datE XE8) = 8,600
790 HQIAM| 0 14,000 -14,000 »
791 HOIM S 0 14,000 -14,000
791-01 HOIM S 0 14,000 -14,000
- HOIN = 0
(A7H)0&-(7]174)14,000,000& = -14,000,000&
800 ofjHjH| 8,000 15,000 -7,000 [ 0.1% ]
810 ofjd|H] 8,000 15,000 -7,000 ([ 0.1% ]
810-01 ofiH|H| 8,000 15,000 -7.000
« OfjbjH]| - 8,000
(Z37)8,000,000%-(7174)15,000,000& = -7,000,000&
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200 X}EXX| & 362,911 362,026 885 |[ 100.0% |
220 EX}xpAE 275,443 275,443 0[[75.9% 1
222 7|EFEXFXIA 275,443 275,443 0
222-01 7|EFEX}XFAH 275,443 275,443 0
230 QB XA 34,200 12,700 21,500 [ 9.4% ]
234 328 21,500 0 21,500 |[ 5.9% ]
401-01 A|AdH]| 21,500 0 21,500
c ZAE 2|RYE 20000 X 14 = 20,000
. BPERAL TS 1500 X 14 = 1,500
237 27| FH|= 12,700 12,700 0([13.5%]
405-01 XpAHE| S 4| 12,700 12,700 0
250 SHXpAH 52,574 50,000 2,574 ([ 14.5% )
251 SEXpM 52,574 50,000 2,574
255-5 7|EFSLE KA 52,574 50,000 2,574
« ATEQO|(B7HEA ArcGIS EET) 2574 X 14 = 2574
800 X}£ 0 H|H| 694 23,883 -23,189 [[ 0.2% ]
810 Xp=oj b4 694 23,883 -23,189
810-01 XH=L0j|H|H] 694 23,883 -23,189
« Xt 0jH| | = 694

(A X)694,0008 -(7|%)23,883,000¢
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